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212 The basic elements of a hydraulic press are shown in l
Fig. P2.12. The plunger has an area of 1 in.%, and a force, F,
can be applied to the plunger through a lever mechanism having
a mechanical advantage of 8 to 1. If the large piston has an area
of 150 in.?, what load, F,, can be raised by a force of 30 lb

applied to the lever? Neglect the hydrostatic pressure variation.
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213 A 0.3-m-diameter pipe is ¢
' _ pe 1s connected to a 0.02-m-
dxa{neter pipe and' both are rigidly held in place. Both pipes zx:e
h9nzon§al with pistons at each end. If the space between the
pistons is ﬁlleq with water, what force will have to be applied
to the largcr piston to balance a force of 80 N applied to the
smaller piston? Neglect friction.
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